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QUESTION 1

Where are the content gateway-related log files located on the Unified Access Gateway (UAG)? 

A. /var/log/airwatch/gateway/ 

B. /opt/vmware/gateway/logs 

C. /var/log/airwatch/content-gateway/ 

D. /log/vmware/content-gateway/ 

Correct Answer: B 

Reference: https://docs.vmware.com/en/Unified-Access-Gateway/3.3.1/com.vmware.uag-331-deployconfig.doc/GUID-
C16913E1-7984-4072-B1E8-7EBAE385A831.html 

 

QUESTION 2

Users are able to list all of their repositories through the content gateway of the Unified Access Gateway (UAG). After an
attempt to open a SMB repository, the users are required to provide a username and password. 

Which two can cause the issue? (Choose two.) 

A. Port 80 should be verified to make sure it is not blocked between the device and the content gateway. 

B. Smb.conf needs to be edited if there are multiple repository in the same domain. 

C. A Fully Qualified Domain Name (FQDN) needs to be added to the resolv.conf. 

D. Having multiple repository on the same domain is not supported. 

E. Content gateway does not support SMB repository. 

Correct Answer: BC 

Reference: https://docs.vmware.com/en/Unified-Access-Gateway/3.5/uag-35-deploy-config-guide.pdf 

 

QUESTION 3

An administrator has an on-premises Workspace ONE UEM which has a valid Apple Push Notification service (APNs)
certificate. No iOS apps can be installed. 

What could be the problem? 

A. The network ports 2195 and 2196 are blocked incoming. 

B. The network ports 5228-5230 are blocked outgoing. 

C. The network ports 2195 and 2196 are blocked outgoing. 
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D. The network ports 5228-5230 are blocked incoming. 

Correct Answer: C 

 

QUESTION 4

An administrator has enabled Kerberos Constrained Delegation (KCD) on the SEG v2. If the administrator publishes a
profile without a certificate payload and the user enters the password, everything works fine. When the user publishes
the same profile with a certificate payload, the system is unable to connect and synchronize emails. 

Which two troubleshooting steps need to be taken? (Choose two.) 

A. KCD is not supported on SEG v2. 

B. Verify if the service account is a member of the IIS user group on each CAS Exchange server. 

C. Verify that the Workspace UEM Console certificate is uploaded as a client certificate chain. 

D. Verify that port 88 is not blocked between the SEG and the Active Directory domain controller(s). 

E. Verify that the service account is set to the service type OWA. 

Correct Answer: CD 

Reference https://docs.vmware.com/en/VMware-Workspace-ONE-UEM/1907/WS1_KCD_SEGV2_Doc.pdf 

 

QUESTION 5

An administrator has configured a per-app tunnel in a cascade deployment type. Between the network segments, the
administrator has implemented a load balancer that is providing SSL-offloading. 

None of the per-app tunnel configured apps are able to establish a tunneled connection. 

What is the problem? 

A. Per-app tunnel cannot be deployed in cascade mode. 

B. Per-app tunnel does not support SSL offloading. 

C. The SSL offloading needs to be enabled between the two tunnel servers. 

D. Per-app tunnel does not support SSL offloading between the two relay -endpoint tunnel servers. 

Correct Answer: B 

Reference: https://docs.vmware.com/en/VMware-Workspace-ONE-
UEM/1907/Tunnel_Linux/GUIDCD6FE0E3-902E-4099-A0B1-DB43B1BD0F43.html 
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